1279-2 I 1271-8
12793
1275 =
[A3% AdicHE/
.'/.
/ 1272-8 \ \A\
lETE—H \\,\

g -{ T — l =
1272 Xm?w p /|5
-9 /o i
—— A 1212 ¥ =
. 1271-2
_——:-?_ﬂ_;___.___ -’2?34 e, r"_-]:] S— — -
= ----b- _: <8 : H 12?5— X
| :_ = -3_‘_: —:_:—-h- e ¢ ,\r&'" P T_-E'_E
1270-1 _l_}'_{l;:ﬂ:i'-:-}%_:- “-——_dr’ @.{r{,.»f. e
T T = 1281-1
———— DL uen g _
IR T
{ \‘x 1275-2 AR 1283-1
2 N sl \'\'23‘3 2
NN N L - 2780 4 N
B 7 /7 o e SN | T Rl
AN i PR T — I 5= 3
s 1280-37 8 o= %,
\'{%‘ | 1276-4/ N/ e S
ol S S [T 1218 —
— \_ _1" /r / .
1428-1 S 7 AL 1278-1 f o
S ,3} L _— o /1287
¥ 1276-1 H /A
H A
(75) HE- 5 RMEE, Lo K 2 BRI L - FEERTEFEOMEE 2 T bh s mra'l -‘g —
TAUCRDLILOL LTRAM G ATV HRE T, THOMERUBROBRZER LERETY, g /
Bl M
th N \
A "

AT TE |IREFTHANTAIE &

5 3
S

127134

- JEER
54 Hek S (IR A i

o i

1/600

ELE
A

W\ |1 LSRR M

W
£ A
(FE)

itz
ey

\

HIEES : 4-78

ZhiltE BT HEmiciEsh TWHAREEHH LETmTHh 5,

VRE234F8A8H
BRI ESEREEEE
RIEE

(6

(1/1)




